. 3,000
( ngEk:3~ 67 )
650 550 600 550 650
52
W10 X 70F b
o —IE
: S S S W | z Q O
& H T { 1 T : g
- I ek
TR
e H—
500 ¢ FER S$=1/40 ) o W12 x TOK b
=D
SUSyM8
W Fr-y
( AR )
3,000 600
650 550 600 550 650 300300
$89.1 ’ ’ ‘ AR A7 1k
=) B B o ——H = Z 4. 600
$89.1 [m\
R300
. =
- EIN F1-y = ﬁ”o S
g g s
R
r 50050k 5001k -
(=3
4 /i 53 = -
V6. L 8 %r 8
F =4 4
S—— ] LEVIPR I ] r [ — =
— \ \ ] \ youi — g
8 8 =
50 ‘ 500 ‘ 50 50 1,200 ’ 50 —
600 hd S=1/40 1,300
( BREE ) ¢ EEE /40 ) s
( ZefEE S=1/100 )
1. BEMRE, BHTREET S,
2. HBHIE. BREDA v FBRET B, ( fmk S=1/40 )
3. (—#) BALEEREBROAKRSETERIRNAORSEET 5.
4. BHEORLIZET HIRAEIPFA-SP-S:2014] 10/ EF B,
% 080.1 mE 42 T AR U Bt e i 188 £ YRAUE2ETS 0 HST-253-U02
T 5
* i % i % = i P & 2022467 A B




